CONFIDENTIAL g i Z

Protokoll iiber die Ubergabe von Sachgiitern
an den Projekttriger im Partnerland

Record of surrender of equipment and materials to the project executing organisation in the partner country
AKT npo nepegavy ToBapHO-MaTepianbHUX UiHHOCTEN napTHepam NPOeKTy

Projektnummer 23.1821.0-003.00

Project number

Homep npoekTy

Projektbezeichnung ~ Strengthening Urban Resilience

ﬂ:g"; f;f F;’:fe"‘ | in the Areas of Supply Infrastructure
FaRe and Housing of Ukraine (SUR)

MOCWNEHHSA CTIMKOCTI MICT Y COEPI
KNTTEIABE3NEYEHHA MICBKX
TEPUTOPIANBHUX TPOMA[ B YKPAIHI (SUR)

Die auf der beiliegenden Bestandsliste verzeichneten Handing over protocol No.7500084409_30, dated
Sachgiiter sind iibergeben worden am 07.04.2025 / OKT NpuiAMaHHA-Nepeaadi

The equipment and materials on the attached list of items were surrendered on .
ToeapHo-martepiankHi WHHOCTI 32 A0AaHUM nepenikom Bynw nepeaati Ha NO'7500084409-30 BIO 07.04.2025

HacTynHy Oary.
von (Name und Funktion) Victoria Garagan, Construction Advisor
by (name and position) ' BikTopis MaparaH, PagHuus 3 nutans GyaisHnuTea,

Ll g Dmytro Khmura, Construction Advisor

[MuTpo Xmypa, PagHuk 3 nutanb GyaisHuuTea

an den/die Vertreter/-in des Projekttrigers (Name und Valeriy Shovkalyuk, City Mayor of Rozdilnanska City
Funktion) Council

to the representative of the project executing organisation (name and - . o

coRition) Banepiti Loskaniok, Micbkui ronosa

yNOBHOBAXEHOMY MPeACTaBHUKy napTHepa npoexTy (MIB Ta noauuis) Po3ninbHAHCLKOT MicbKoi paaw/

Stanislav Zubkov, Director of COMMUNAL
ENTERPRISE “Rozdilnyansky miskiy vodokanal”
Cranicnas 3y6kos, Avpektop KOMYHANTIbHOIO
MANPUEMCTBA «Po3ainsHaHCLKMiA MICBKUIA
BOAOKaHan»

Mit dieser Ubergabe sind beziiglich der aufgefiihrten Sachgiiter alle Rechte und Pflichten auf den Projekttriager
tibergegangen.

Die Sachgiiter stehen jedoch den Fachkriften fiir ihre Aufgaben uneingeschrénkt zur Verfliigung.

Upon this surrender of equipment and materials, all rights and obligations concerning the equipment and materials listed are transferred to the project
executing organisation. However, the equipment and materials shall be at the unrestricted disposal of the experts in carrying out their tasks.

Pa3oM 3 Nepeaayelo ToBapHO-MaTepiansHix uiHHoCTER, BCi Npaea Ta 30608'A3aHHA LWOAO HUX NEPEXOAATE AO napTHepa npoekTy. OaHak 3a
(haxiBUAMM 3ANUIEETLCH HEOOMEXeHe Npaso BUKOPWCTEHHA TOBAPHO-MaTepianbHuX WIHHOCTE AiNA BUKOHAHHA CBOIX CryXBOBUX 3aBAaHb.

Die Bestandsliste Seiten und ist in Sprache in zwei Exemplaren
umfasst pages and is drawn up in ausgefertigt. ff”
The list of items consists.0 the . Enghsh 1 language, in duplicate. =
CTOPIHOK Ta CKNaaeHuA Y MOBaMM Yy ABYX eK3eMnnapax. }/
YKpaiHCbKO -

g

Shovkatyuk' //

Ort, Datum jupd ri hee Zridte and signaturé /Micue, aata, mipnuc

. | Valeriy
' Banepii loekanio
L : * . h@imomme _




CONFIDENTIAL
Annex 1o Handover Protocol Ne 7500084409 _30, dated 07.04 2025

[ogatok 1 §o AxTy npuAMaHHs-nepagas N 7500084406_30, eig 07.04 2025

Bin npo:-rry "NOCHNEHHA CTIMKOCTI MICT Y CP®EPI )KHT?G:;AEE:!HEHEHH!-\ MICBKUX TEPUTOPIANBHUX FPOMAL B YKPAIHI" (SUR), u.|o hiHaHCYETLCR
Himeu Ta TheA HiMeubrum TEOM P o cniBpoBiT {Deutsche Gesellschaft fiir Internati beit (GIZ)

GmbH] ao Po:m.lnmn»cwm Mickxoi Pagu Opeckkoi O6nacTif

From the Project Strengthening Urban Resilience in the Areas of Supply Infrastructure and Housing of Ukraine (SUR), which financed by the Government of
Germany and impl ted by D he Gesellschaft fiir Internationale Zusammenarbeit (GIZ) GmbH to Rozdilnyanska City Council Of Odesa Region

OpuawaHa agpeca 7400, Ykpaia, Opgeceka o6, POagiNkHAKCEKMA DO, MICTO Podginena, Byn. Myniuunansha, Gya 17
Legal adress: 17, Municipaina St., Rozdiina city, Rozdiinyanskyi districl, Odesa region, Ukraine, 67400

Aapeca pocrasxk 57400 Yepaina, Opecera obn, PO3QINEHAHCHEMIA pAROH, MICTO PoaginsHa, Byn Monogisa B-1

Delivery adress: 67400, Ukraine, Odesa region, Rozdilnyanskyi district, Rozdiina city, Molodizhna nin. 07.04.2025
= Op. sumipy/ | KinbkicTs!
Mo Hawmenyaanus | Name Onwuc Teeapy | Product description Unit measure | Quantity Price (EUR)
4 Mefinesa koreepaliing yoTasossa HPC 70 N (P23102-30) 3 goaatkosum  |Mobile CHP module HPC 70 N (P23102-30) with additional i ek 1.00 100 052,00
ofinaguaxuam. Bara Hetto: 3,080,000 «r, kog CN: 85-02-20-40 anuipment Net weight 3.080,000 kg, CN code 85-02-20-40 ¢ g
BuTpaTHl METERIANNK, WO CKNBABKTLCH 3 Opsrating materials consisting of
- Dxonoawyaya pianHa CORACON BF 848-30, roTosa cymiw 45/55 8 20- - cooland CORACON BF B48-30, ready mix 45/55 in 20 litre
nitposwx kaHicTpax, 100 n Kog CN: 38-20-00-00 cans, 100 Ifr, CN code: 38-20-00-00,
- MoTopHa anwea Sentron LD 5000 8 kawicTpax ne 20 nitpie, 80 nitpie. Kog |- engine o Sentron LD 5000 in 20 live cans. B0 ltr. CN code. - 1
2 len 27101881, 10-19-81. NORhEAT o i bl
- rpaHyniu HerTpanizayi. 1 wr, keg CN: 25-12-80-80 - neutralisation granules,1 pes. CN code; 25-19-90-50,
- MBCTHRO ANA Fa3080TD NivvnsHMea Shell Morina 10-100 mn, 1 komnnext. |- oil for gas mater Shell Moriina 10 -100 mi, 1 pe. CN code: 90-28
Koa CN: 80-28-90-80 20-80
LaTimk PATYRM 3 3AHYT rine3ow. PT100 - 600 mm-1/2". Kop | T sensar with PT100 - 600 mm-1/2" CN
3 [on s0-2515-00 code: 80-25-16-00 uir/ pes 20 B
M. G Hacoo 3 Qil pump with petrol nozzle
4 |Viscomat 70 (ginsTp, G p i KON Viscomat 70 (filter, petrol nozzle with digital counter, wr/ pcs 1,00 70915
KPOHWTEANY, WwnawKry), Koa CN: 84-13-11 -DU brackets, hoses). CN code: 84-13-11 00
5 Mepereoposa3 3MiHHOre oTpymy DEIF TAS-3310G. Kog N 90-30-33-70 AC transducer DEIF TAS-3531DG. CN code: §0-30-33-70 {inci LrF 1 pes 1.00 37094
BRI KO At xaBens DEIF) configuration cable DEIF) P F .
B o ¥ Secondary silencer consisting of
4 i CN code B4-05-99-00
- BTOpuHHA TyLLMAK AdBm, 1 LT, Kog CN 84-08-85-00 sscondary silencer Adam, 1 pea.
- FBWHT 3 WECTWTPaHHOW ronoekos M18, M1Bx65 8,8 DIN 833, 16 wr, kop CN |© hexagon head screw M16, M16x65 8.8 DIN 933, 16 pes. CN
73-18-15-88 code 73-18-15-B8
. wakGa ana M16 DIN 125, 32 wr, ko CN 73-18.22.00 - washer for M16 DIN 125, 32 pes, CN code 73-18-22-00
- radixa wecrurpaNKa M16 DIN 834, 16 um, koa CN 73-18-16-99 ~ hexagan nut M1 DIN 934, 16 pcs, CN code 73-15-16-69
- aHET CTanesuh DLHIOBAHMA 1H - DBMM EN 12385, 3. ron CN: 73-12.10." 3ieel wire rope gelvaniasd 1m - D& mm EN 12385, 3pe. CN
1 code: T3-12-10-81
- shackle DIN B2101-A, 9 pcs, CN code 73-26-90-88
- ckoba DIN B2101-A, 8 wrT, kog CN 73-26-00-98 1 !
- Wumbuckle eyelet | eyelet DIN 1480, 3 pes, CN code 73-26-90-
& |- Bvwkoinpoyuska ana ranpena DIN 1480, 3 wr, kog CN 73-26-50-38 38 ¥ ki 1.00 235005
- 3aTWcKay GnA kanata DIN 741, 12 wr, kog CN 73-26-00-98
- HANEPCTOK KaHaTHWA D8 DIN 6889, & W, kog CN 73-18-28-00 - rope clamp DIN 741, 12 pes, CN code 73-26-50-58
- pun-6onT M10 DIN 580, 3 wrr, kea CN 73-16-12.00 - rope thimble DB DIN 6899, 6 pes, CN code 73-18-25-00
- YLYibHEKHR BHCOKOPD TCKy. DN 80 90x142 M, 2 T, X0A 68-15-99-00 - eyabolt M10 DN 580, 3 pes, C:-I code 73—18_-12-00
- FBMHT 3 LUBCTUTPEHHOO ronoekoi M12 M12x40 B,8 DIN 933, 3 W, koa CN 9;3'; pressiure seal, DN 80 B0X142 mm, 2 pes; CN oodeb3-15-
73-16-15-B8
- wadEa ans Mi2, DIN 125, 3 wr CN 73-18-22.00 - haxagon head screw M12 M12x40 8 8 DIN 933, 3 pcs, CN code
- raik & DIN 934, 3 W, koa CN 73-18-16| 7 - 18-15-68
e Miz BT DAL - washer for W12, DIN 128, 3 pes, CN 73-18-22-00
- kounencaTop DNBO ruyuid TyR FLX D41500. 1w, xoa N 68-16:98:00 |7 1exagon it M12 sell-iocking DIN 834, 3/pos, N coda 73-18-
- axpansion joint DNBD flexible Typ FLX 041300, 1 pos, CN code
68-15-89-00
Macnanwi Gax. Wo CRNAjacTsEn X
MACAAHWA BaK 3 TPWMB-EM 400x500xE40 Mw - 100 n, 2 W, og CN 87-08-99 CHl tank consisting of
a7 - oil tank incl holdar 400x500x640 mm - 100 tr, 2 pes. CN cods
- npoBka NATYHHa 3 yujnerennam 1 172", 2 wr, koa CN 74-12-20-00 87-08-39-97 :
7 |- sarnywka naTyHHa 3 yuinssosaven 17 4 wr, kog CN 74-12-20-00 - brass plug with seal 1 172", 2 pes, CN code 74-12-20-00 womnnesT/sel 1,00 102048
- FBAHT 3 LWECTHTPANHOID ronomkar M10 M10x30 8,8 DIN 933, 22 wr, kog CN |- brass plug with seal 17, 4 pas, CN code 74-12-20-00
73-1B-15-88 - hexagon head screw M10 M10x30 8.8 DIN 933, 32 pes, CN
- npywinHa Wwadsa ane M10 DIN 127, 32 wr, kog CN 73-18-21-00 code 73-16-15-88
- wai6a gns M10, DIN 125, 32 . Kog CN 73-18-22-00 - spring washer for M10 DIN 127, 32 pes, CN code 73-18-21-00
- washer for M10. DIN 125. 32 pes, CN code 73-18-22-00
Fasome NPMNALAR, WO CKNAAAETECA 3. Gas accessones cansisting of
- niynneHwy razy FMR G16 DNa0 PN16, 1 wr. kog CN 80-28-10-00 - gas meter FMR G1€ DN40 PN16, 1 pos, CN code 90-28-10-00
- KP&H KyNbOBWA 3 TRpMO3aNCOt-MKoM DN25 AKT 25R10TAS, kag CN 84-81- |- ball valve with thermal fuse DN25 AKT 25R10TAS, CN code 84+
BO-81 B1-80-81
- hinkTp rasoeui DN25 GFK 25R10-6. 1 wr, kog CN 84-21-38-85 - gas filter DN25 GFK 25R10-6, 1 pes, CN code B4-21-38-85
- komnpecop DN 25 3 HEKWIHOK raAKoI | ABOME yuyinkHeHHAMM, 1 LT, kg CN|- compresator DN 25 with union nut and two seals, 1 pes. CN
B3-07-10-00 code 83-07-10-00
B |- wonowa resceux TpyB BT 1030.001 2a xpecnensam P23102.1-1-M-GA- - gas pipe string BT1030.001 acearding to drawing P21102-1-1- wi / pes 1.00 419338
241873, 1 womnnext, kog CN: 73-08-30-77 M-GA-241872, 1 set, CN code: 73-08-30-77
- FBWHT 3 WECTRIPaHHOI ronoeka M16 M16xB5 8.8 D933, 8 wr. kog CN 73- |- hexagon head screw M16 M16x65 8.8 D933, 8pc, CN code 73~
18-15-B8 18-15-88
- waiba gns M16 DIN 125, 16 wr, koa CN 73-18-22.00 - washet for M16 DIN 125, 16 pc. CN code 73-18-22-00
- rawa wecTurpakHa M16 DIN 934, B wr, voq CN 73-18-16-89 - haxagon nut M16 DIN 934, 8 pc, CN coda 73-18-16-85
- ayfuacTi cronopHi WaAGk D17 DIN 6798, 4 T, koa CN 73-18-22.00 - serated lock washers 017 DIN 6798, 4 pe, CN code 73-18-22-
- YLUYIMBHKOBEY BACOKOrD THEKY DNSD B1x107 Mm, 2 wr, xog CN 68-15-68-00 o0
- high preesure seal DNS0 81x107 mm, 2pe, CN code §8-15-89-
J4[4]
9 | 3amok ALMEE ANR NPUHENS 3 ABOME KmowEsn. Kog CN: 73-26-80-58 ;mllar box lock including fock wilh two keys, CN cade: 73-26-60- womnnext/sel 1.00 3850




Z ANR obcnyr we A3 Z Maintenance kit consisting of:
10 -‘:gr:-::i onuea. 40 n Sentron LD 5000 B 20-nimposux kasicTpan, kog O 27+ }:ﬂ‘;‘m 40 Iy, Sentron LD 5000 in 20 litve cans, CN code 27- Kounnextisel 1.00 165,38
= dhineTp, 10T koa CN 84-21-23-00 - oil filter, 1 pes; CN code 84-21-23-00
a ANR ohcnyr LU CKNAAAETHCA 3 a-maintenance kit consisting of
- MoTOpHa onwsa Sentron LD 5000, 120 n. Bara Herro 105,600 kr. Kog CN 274- engine cil Sentran LD 5000, 120 Ifr Net-weight 105,600 kg CN
10-18-81; code 27-10-19-81,
LI i MECNMAWA dineTp, 2 W, sara wetTo 1852 kr, coa CN 84-21-23.00 - eil filtar, 2po., net waight 1.852kg. CN code B4-21-23-00 waMTRerYIsE: 100 Sye.e
- APOKNAAKA KNANEHHG! KPULLKW, 6 WT,, B3ra HeTTo 0,086 kr, ko4 CN 84-84.10- |- valve caver gasket. 6 pc,, net weigh! 0 DBEkg. CN code 84-84-
oD 10-00
b AnR i Genyrosy L0 CKNAASETHER 3 b-maintenance kit consisting of:
- MoTopHa onwea Senfron LD 5000, 60 n. Bara werro 52,800 kr Kog CN- 27- |- engine ol Sentron LD 5000, 60 Iir, Nel-weight 52,800 kg CN
10-19-81; code: 27-10-19-81.
. macnAkwA dineTp, 1 WT, Bara wetTo 0,826 kr, kog CN 84-21-23-00 - ail filter. 1pc., net weight 0,826kg. CN code B4-21-23-00
12 |- npoknaaka KnanaHHol KpuuEn, 3 W, Bara weTro 0.043 ur, kog CN B4-84-10- |- valve cover gasket, 3 pe.. net weight 0,043kg, CN code 84-84- | xomnnexr/set 1.00 742,44
a0 10-00
_CHIMKA JANENIBAHHA B WT, DBnso M1471,25, SW 16,0, sara wetTo 0,268 ar, |-spark plugs 6 po, Densa M1471.25 W 16,0, Net weight 0,268
xof CN 85.11.10-00 kg, CN code: 85-11-10-00
-NOBITARKWA QineTp 1T, 8ara HeTTo: 0,938 kr, Kos CN B4-21-31-00 -air filter 1pe, net-weight 0,839 kg CN code:B4-21-31-00
AnA i obcnyr g 3 c-maintenance kit consisting of
- moTopHa onusa Sentron LD 5000, 60 n Bara wetta 52,800 kr Koa CN 27- |- engine oil Sentron LD 5000. 60 fir Nel-weight 52 800 kg CN
10-18-1; code; 27-10-19-81;
- MACNFHWA DINsTp, 1 WY, BEra HeTTo 0926 wr, kog CN B84-21-23-00 - oll fifter, 1pc.. net weight 0,926kg. CN code 84-21-23-00
- NPOKNAGKS KNaNaHKol kpvkw, 3 W, sara #eTTo 0.043 wr kog CN 84-84.10- |- valva caver gasket 3 pc. net weight 0,043kg, CN code B4-B4-
13 |00 10-00 KoMnnekT/set 1.00 B38.87
-celuki 3ananoBanKs 6 wr, Denso M14*1,25 SW 16,0, sara wetTo 0,268 wr,  |-spark plugs 6 pc, Densa M1471.25 SW 16,0, Net weight 0,268
xog CN B5-11-10-00 kg, CN code. 85-11-10-00
-noBITPRHWA GineTp 1WT, Bara HeTTo: 0,838 kr. Kog CN: 84.21-31.00 -air filter 1pc. net-weight 0,939 kg. CN code:84-21-31-00
- namBLa-gaTtens Bosch LSU 4.9 1 wr, sara nerte 0,150 r, kog CN. 90-27-10{- lambda sensor Basch L5U 4.9, 1 po., Net weght 0,150 kg, CN
10 code 30-27-10-10
Cxnag 38nacHAX SBCTAH Spare parts consistion of;
- cTapTep ABurywa, 1w sara wetro 7 800 «r, wog CN 85-11-40-00 - motor starter, 1pe, net waight 7,800 kg, CN 85-11-40-00
- KOTYLLKE 3ananoBaHHA MIC3, 2 W, sara HeTTo 2 348 kr, ko N B5-11-30- | ignibon coil MIC3, 2 pe, net weight 2,346 kg, CN code 85-1 130+
oo oo
H -aawknamuau MamHiTHWR 5/8 2.5, 1 L, sara weTro 0,089 kr, koq CN 90-31-80- |. pickup magnetic 5/8 2,5, 1 pc, nel weight 0,089 kg, CN code 50 L 1400 1A%
31-80-80
- 3EyKoaHiMEY HALL Etfect M12x1x60mm, Tiur. Bara eTTo 0,008 . kof CN | pickup HALL Effect M12x1xB0mm, 1pc, net waight 0,089 kg
90-31-80-80 CN eode 80-31-80-80
Hasip AnA i ¥ . wo 3 Toaol sat for maintenance consistion of
Kkopobia 3 ran kmwodew. 1 WT, Bara MeTT0 4627 i K04 |-universal ratchet box. Tpc. net weight 4,627 kg, CN code B2-04-
CN B2-04-20-00 20-00
-yHiBepCANsHWA TopLeBWR xiow E10 3/8 - Halex, 1 wr, sara Hetto 0,023 K. |-universal socket E10 38 - Holex, 1 pe, net weight 0.023kg, CN
koa CN 82-04-20-00 code 82-04-20-00
-ugyn-xntod Holex, 1 wr, sara Hetro 0,058 v, xog CN 90-17-30-00 -feeler gauge Holex, 1 pe, net wesght 0,059 kg, CN 80-17-30-00
- HAKWIHIW KNioY 97830 mm - Holex, 1w, sara HeTTo 0,357 «r, kog CN 82-04-1. syrap spanner §7/930 mm - Holex, 1ps, net weight 0357 kg CN
1200 code 82-04-12-00
- KoY Wwadioswi Knipex, 1w, sara wetro 0,104 kr, kog CN 83-01-70-00 - cupboard key Knipex, 1 pc, net weight 0104 kg, CN code 83-01
15 |- Knsou HakwaHWR 3 NOABIAKIM Kinbuem 14x17 - stahiwille, 1 WwT Bara HeTTo T0-00 KomnnexT/set 1,00 999,51
0,187 wr, ¥og CN 82-04-11-00 - deep offset double ring spanner 14x17 - stahiwille. 1 pe, nat
- Habip WwecTirparHiy L-nediGHux knious Swiss, 1 Wwr, 8ara HeTTo 0.081 4. |waight 0,187 kg, CN code 82-04-11-00
¥o CN 82-05-40-00 - hex key L-wranch set Swiss, 1 pc. net weight 0,081 kg, CN
- Habip LWeCTWpaKHUX KNOHiE L-0BpasHuX WeSALapChaMs, 1 LT BAra HETTO | gode B2-05-40-00
0,081 wr, ko CN 82-05-40-00 - hay key L-wrench sat Swiss. 1 po. nel weight 0,081 kg, CN
- anomiicani Awux BSL - Stier, 1w, kea CN 78-12-90-80 code B2-05-40.00
- yHiBEPCANBHAR Nepexianws 38 - Holex, 1 T, sara wetTo 0,051 o, kof CN |- aluminium box B5L - Stier. 1 pc, CN code 76-12-80-80
82-04-20-00 - universal reduction 38 - Holex. 1 pe. net waight 0,051 kg, CN |
- nnocKkeryByi FaRKos! Knipex, | wT, sara weTTo 0,646 v, xog GN £2-04-12-00 | oode 82-04-20-00 ;:;37:;““
- pliers spanner Knipax, 1 pe, net weight 0. 646 kg CN code 82- @ ‘t‘
04-12-00 3 ]
J/x/  Besoro capo EUR):| 11469157
DEVEAMAEHE, KA 8 BPH § DEBEAKYKY HE KYPC ERRD A Damy nepeniany sopdisy 04 04 2025 p 45 BEF1T/ approvimately, arce iy LAH fo sura exchange rate on the cate of border crossing e of 4 i 75 am 45 8. k-

& [ topapuntoo WSRO

cniaguairesirea (GE) Tu6X

Ocofiv, o BepyTs y4aCTs y cxnaganxi akty (nocaaa, MiB)/ Name and position of the responsitie parsons:
1

Victoria Garagan, Construction Advisor Project: Strengthening Urban Resilience in the Areas of Supply Infrastructure and Housing of Ukraine §

(SUR) GIZ BikTopin

Faparan, PagHUR 3 nurans SyaisHuuTes, )

Mpoekr MOCUNEHHA CTIAKDCTI MICT ¥ COEP| WUTTESABESNEYEHHS MICEKMX TEPUTOPIANEHWX FTPOMAL B YKPAIHI

(BUR)GIZ

Z
Dmytro Khmura, Construgtion Advisor Project: Strengthening Uirban Resili in the Areas of Supply Infrastructure and HousThg gk
(SUR) GIZ oK .‘F-*rrf 1

Xmypa. Pagrvx 3 nerare ByamHnyrea
Mecerr NOCKAEHHRA CTIMKOCTI MICT ¥ COEP KATTESABE3NEYEHHA MICBKNX TEPUTOPIANBHWUX
(SUR) GIZ

kR
Banepin L - Mickxui ronoea Po3ginbHAHCEKD! MICEKOT PEAK
Valerly Shovkalyuk - City Mayor of Rozdilnanska City Council
4
Cranicnas 3ybrcs - QUDEKTOR KOMYHAREHOMD Tea "Poag @ MICERAR n"

Stanisiav Zubkov - Director of Communal Enterprise "Rozdilnyanskiy vodokanal”



CONFIDENTIAL

Annex 2 to Handover Protocol(s) Ne7500084409_30 dd 07.04.2025 / flonaTok 2 go AkTa(-iB) npuAMaHHA-nepeaayi:

Ne 7500084409_30 sig 07.04.2025

PROCUREMENT HANDOVER FORM
dopma nepefavi sakynisenn

English / AHrninceka

Ukrainian / YkpaiHcbka

Partner organization’s name /
Haaea napTtHepchkoi opranizauii

Rozdilnyanska City Council of Odesa
Region

PozginbHAHceKa Mickka Papa
Opecbkoi O6nacri

Partner’s address /
Appeca napTHepckkoi opradizauii

17, Municipalna St., Rozdilna city,
Rozdilnyanskyi district, Odesa region,
Ukraine, 67400

67400, YkpaiHa, Ogecbka obn.,
Po3ginsHAHCLKWIA paitoH, MicTo
PosgineHa, Byn. MyHiuvnansHa,
6ya.17

1. Partner representative
(name, position, phone no. and email)/

1. MpepctaBHUK NnapTHepcLKoi
opraHizauii
(im’s Ta npissuwe, nocapa, Homep
TenedoHy, anpeca enekTPOHHOT NOWTH)

Valeriy Shovkalyuk - City Mayor of
Rozdilnanska City Council

e-mail: rozdilnatg@od.gov.ua;

bosuk788@ukr.net

tel. +38 097 217 4929

Banepin LLloekantok - Micbkuia ronosa
Po3ginbHAHCLKOT MiCbKOT paau

e-mail: rozdilnatg@od.gov.ua;
bosuk788@ukr.net

tel. +38 097 217 4929

2. Partner representative
(name, position, phone no. and email)/

2. TMpepcTaBHUK NapTHepchbKol
opraxisauii
(im’st Ta npisenuwe, nocapga, HOMep
TenedoHy, agpeca enexkTPoOHHOT NoWTH)

Stanislav Zubkov — Director of
COMMUNAL ENTERPRISE
«Rozdilnyansky miskiy vodokanal"

e-mail' rozdilnatg@od.qov.ua;

bosuk788@ukr.net

tel. +38 097 217 4929

Cranicnas 3y6kos - upekTop
KOMYHANBHOMO NMIANPUEMCTBA
«Po3ginsHAHCEKUIA MICBKWUIA
BoAOKaHan»

e-mail: rozdilnatg@od.gov.ua:
bosuk788@ukr.net

tel +38 097 217 4929

1. Name and position of
representative responsible for
handover /

1. IM'a Ta nocana BignosigansHoro
npeacTaBHUKa NPOEKTY

Victoria Garagan,

Construction Advisor

Project: Strengthening Urban Resilience
in the Areas of Supply Infrastructure
and Housing of Ukraine (SUR) GIZ

BikTopis aparan,

PaaHuua 3 nuTaHs DygieHuUTEa,
MpoekT: MOCWUNEHHA CTIMKOCTI MICT v
COEPI XWUTTESABESNEYEHHA MICLKIAX
TEPUTOPIANBHUX MPOMAL B YKPAIHI
(SUR) GIZ

2. Name and position of
representative responsible for
handover /

2. Iv’s Ta nocapa BignosiganbHoro
npeacTaBHUKA NPOEKTY

Dmytro Khmura

Construction Advisor

Project: Strengthening Urban Resilience
in the Areas of Supply Infrastructure
and Housing of Ukraine (SUR) GIZ

OmuTpo Xmypa,

PagHuk 3 nutans ByaisHuuTtea

MpoekT. MOCUNEHHA CTIMKOCTI MICT ¥
COEPI MUTTE3ABEINEYEHHA MICHKWX
TEPUTOPIANTBHWX TPOMAJL B YKPAIHI
(SUR) GIZ

Date of handover / 07.04 2025 07.04.2025
HaTta nepepavi
Gontract number / 7500084409 7500084409
Homep norosopy
Mobile CHP module HPC 70 N with | Mo6inbHa Korenepauiiita ycTaHoBKa
Type of goods handed over / additional equipment HPC 70 N 3 nopaarkoBum

I'pyna Tosapie, uo nepenawTLcs

obnagHaHHAM.

Quantity handed over /

KinekicTe ToBapis, wo nepegatoThes

1) 1 set

1) 1 komnnekT

Page 1 of 3 Pages




— —

® A oB | RA oB

Balance sheet in which goods will be
entered /

O6nik, Ha skui onpubyTkosyoTeca
TOBapHo-maTepiansHi uiHHOCT]

(OcHoBHMI 6anancosuit 06nik «A» /
Mo3aGanancosuii 06nik «By)

— S I i S
Location in which equipment is to be n/a Hlp

used if different from owner/

Micue ekcnnyarauji obnagHauus, AKWo
BigpiauseTsen sig BnacHWKa

(kog ineHTUdikayii o6’exra, akujo

PenesaHTHo)

Purpose to which equipment is to be used Supply of humanitarian aid in the form MocTauanHs rymanitapHoi gonomory y /

/ of 1_(_one) cogeneration unit with BUrNSAi 1 (oamier) KoreHepauiitHofi

MeTa sukopucrannn o6naguanus additional equipment for _ YCTaHOBKM Ta HeobxigHux
ROZdJlﬂyanska Clty COU”C” of Odesa KoMnJ'IEKTy:O\-Mx POﬁ,ﬂiﬂbHﬁHCbKOT
Region for combined production of Micbkol Paan Opecskoi o6nacti ans
heat and electricity at heat supply KomBiHoBaHoro BupoGHMYTEa Tenmoso| |
facilities with the possibility of ‘ Ta ENeKTPUYHOI EHEPril Ha 06'ekTax
eémergency and autonomous Operation TeNNOMoCTaYaHHs 3 MOXMUBICTIO
of heat Supply faCHmES during the aaapfﬁHOFO Ta EBTOHOMHOFO
martial law. PYHKUIOHYBaHHS Nig Yac Al BOeHHOro

CTaHy.

Name of user of equipment if different n/a H/p

from owner / /

IM's Ta npizsmwe KopucTysava

obnaanaHHa, AKwo BiapianseTLes Big

BriacHuka

Partner and user agree that they are ® Yes / Tak ® Yes / Tak

responsible for maintenance and repair
for equipment after handover /

MaprHep 1a KOpucTyBay noromxytorics,
WO BOHU HecyTh BianoBsinansHicTs 3a
TexHiuHe oGenyrosysaums Ta peMoHT
obnaaHaHus nicns nepenavyi

® Yes / Tak & Yes / Tak

If valuable equipment is provided: partner
and user ensure that secure storage is
available /

y BUNaaky nocravauus uinHoro obnagHauHs:
NapTHep Ta kopuctyBay rapauiTywrs
HaABHICTL NpUMILLeHHs Aana 6eaneyxoro
36epiranun

"

Partner and user agree to give GIZ unlimited & Yes / Tak B Yes / Tak [
access for monitoring /

Maptuep i KopucTyBay norogxyioTees

Hapatu GIZ neoBMexenuit Aoctyn ana
MOHITOpUHrY

Partner and user agree to ensure goods X Yes / Tak ® Yes / Tak ‘J

show GC/GIZ branding /

MNaprHep Ta KopucTyBay norogxyotecs Ha
6pengyBannn ToBapis norotunom cnienpaui
/ GIZ norotunom

Page 2 of 3 Pages



Should the partner organization cease to

exist, the partner and GIZ agree that X Yes / Tak X Yes / Tak

equipment will be either

« allocated to a different unit in the same

organization or

« allocated to a different organization that
serves the same objectives and uses
equipment to the same purpose

The partner will proactively inform GIZ about
the unit or organization to which the
equipment has been allocated. /

fAkwo napTHepcbka opradisauia nepecraHe
icHyBaTu, napTHep Ta GIZ noroaxyoThes,

wo ob6nagHaHHA Byne

*  poamiuieHe B iHWOMY CTPYKTYpPHOMY
nigpo3aini Toi camof opranizauil

+ abo poamileHo B iHWii opraHizaui,
AiANbHICTL AKOT cNpAMOBaHa Ha
OOCArHeHHA TUX CamMKuX uinew, a
TaKOX Ae MeTa BUKOPUCTaHHA
obnagHaHHA 3anNUWMTLCA TOK

camor

Mapthep 3rogeH 3asbaunuso
npoincopmysaTi GIZ npo CTPYKTYpPHUA
nigpo3ain a6o opraudisauiio, ae 6yno

po3miuieHe obnagHaHHa

e v JRDEIHG »
ECRLL o

Ly

Victoria Garagan, Biktopis MaparaH

Location and date /
Micue Ta nata

Name of GIZ representative /
MNpeacrasHuk GIZ

Dmytro Khmura / AmuTtpo Xmypa

Location and date /
Micue Ta gaTta

Name of GIZ representative /
MpeacTasHnk GIZ

;/.. :
Valeriy Shovkalyuk / Banepin L(ieukanmu
e

\

Location and date /
Micue Ta gata

Name of partner representative / | < . Signatuge
Mpeacraenuk MapTHepa i 3t

Location and date /
Micue Ta gara

MpeacTaBHn

Composed by:  Yevheniia Natsilevych, G230

Page 3 of 3 Pages




